
SAP ABAP table NWAT_GIN_STATIR {IS-H AT: Versicherungsstatus des Patienten}

NWAT_GIN_STATIR

MANDT [CLNT (3)]

PATNR [CHAR (10)]

LFDVV [NUMC (3)]

LFDNR_I [NUMC (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

VERKAT [CHAR (2)]

NFAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

 NWAT_GIN_STATIR-FALNR = NFAL-FALNR 
0..N

1

NPIR

MANDT [CLNT (3)]

PATNR [CHAR (10)]

LFDNR [NUMC (3)]

 NWAT_GIN_STATIR-LFDVV = NPIR-LFDNR 
0..N

1  NWAT_GIN_STATIR-PATNR = NPIR-PATNR 0..N
1

T000

MANDT [CLNT (3)]

 NWAT_GIN_STATIR-MANDT = T000-MANDT 

0..N
1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 NWAT_GIN_STATIR-EINRI = TN01-EINRI 

0..N

1

TN16C

MANDT [CLNT (3)]

UNTGR [CHAR (2)]

 NWAT_GIN_STATIR-VERKAT = TN16C-UNTGR 

0..N

1


